2x% + xy—3y* + 5x+ 5y + 25 Q2o oFH (x+ay+b)(2x+cy+d)
olty. ol W, a + b + ¢ +d 2 #= Totefzh

cCh "
H -

>
[> o= 5

oH =

B ~

2x2 4+ xy — 3y? + 5x + 5y + 2
=2x2+ (y+5)x—3y2 + 5y + 2
=2x2+ (y+5)x-(y-2)3y+1)
= {x—(y-2)}{2x + (3y + 1)}
=(x-y+2)(2x+3y+1)
ca=-1,b=2,c=3,d=1




x2_2x_y2+2y_§_ [ BN =]

T
S}

ol SAEY (v -+ ay) (v - by + ) 7 ekt
w0+ b+ e G Folofet,
=

>
> HE: -4

B

x2— 2x—y2 + 2y

=(** -y -2(x-y)
=(x+y-2)(x-y)
= (x+ay)(x— by +¢)
Al4E vl stH

a=-1,b=-1,c=-2
Lat+b+c=-1-1-2=-4




FA (x+py)(x+qy+r)? ot ol W, p2+42+r2

O Ale o
a =

o}
of & FotofaL,

r
5
Ehd
%
O

[ =3 4+ x%y — xy? + 2x2 — 2y? + x — )]

cCh "
| —

| 2
> Heh: 3

B \

W=+ aty—x?+2x2-2y> +x-y

= (x=9)(® + 2y + %) + y(x = y) +2(x + y)(x =) +(x-y)
= (=Y +y)?+2(x+y) +1}

=(x-y)(x+y+1)°

p=-lq=1r=1

P4 +rr=3




4.

M3 44 = (24 x4+ 2) (P +ax+b) D W, AF @b
T-shelet,

> E:

> e -2

B

94

If
o

(F W) = (2 +2)2-x2

= (P +x+2)(x*-x+2)
ca=-1,b=2
sab=-1x2=-2




5.

o= B7] & ab(b - a) + ac(c — a) + bc(2a — b - ¢) ]
A

l

2~
e

Ql

A

Q@ a-b © b+c ® a-c
® 6 @ © ® 6, ©
@ ©,© ®a.0 ©

&8

tlo

ab(b —a) + ac(c —a) + bc(2a—b - ¢)

= ab® — a®b + ac® - a*c + 2abc — b*c — bc?
= —(b+c)a® + (b + 2bc + c*)a — be(b + )
=—(b+c){a® - (b+c)a+ bc}
=-(b+c)(a=-b)(a-c)
=(a-b)(b+c)(c—a)




